
Zc3900 mass and width from pingrg:
mass =   3897.6 MeV
width =  43.5 MeV

Zc4020 mass and width from this work:
mass = 4023.0 +- 0.9
width = 11.4 +- 1.8
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@4180:
Great interference exists between Zc3900 and F0

F0980 Signifcance

Over 
Zc3900+F0500

Over 
Zc3900+Zc4020+

F0500

4180 6.5 6.2

4190 3.5 3.4

4200 3.6 2.9

4210 1.1 0.8

4220 1.9 0.7

4230 3.2 1.3

4237 1.8 1.9

4246 2.2 2.1

4260 5.5 4.9
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Zc3900 mass and width from this work:
mass =   3894.3 +- 2.1 MeV
width =  21.0 +- 2.7 MeV

Zc4020 mass and width from this work:
mass = 4022.2 +- 1.0
width = 11.1 +- 1.7


